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Data Sufficiency
BZro? DTS

Note: In questions numbered 1 to 20, a question is followed by data in the form of two statements
labeled as I and II. You must decide whether the data given in the statements are sufficient to answer
the questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:
a) Mark choice (1) if the statement I alone is sufficient to answer the question.
b) Mark choice (2) if the statement IT alone is sufficient to answer the question.
¢) Mark choice (3) if both the statements I and IT are sufficient to answer the question but neither
statement alone is sufficient.
d) Mark choice (4) if both the statements I and IT together are not sufficient to answer the question
and additional data is required.
Qrsd: 1 00d 20 565 DD HO 23 S50 8 P , D 306 I, IT 0 then e Fotkd HIITed
G030 FDWEON. Q:‘Dbé Ggrodo &DArHow), fa:‘l)‘)é LIDTD PF) D DIV 'aéaoc&)&
DOFI BPT0I° To© ©D M .‘Dg'boa'é'). & oD £08 JrGG56y8 Argren Ao (1)
200C (4) H6% DB AND 2T JoDE JAVJOG.
2) 03) D JrErd0 AV oM YOI [ drgdd Do S D 2T (1) Mo hfodod .
b) £3)H JdIrEedo FFNoH HHIJ0 IT Srgdd DT D HS0NS D 2a7ew (2) m° thocsod.
€) 3D JIrErdo faé')ocbe‘o Dasren I, IT 595 DB 00 90’ D a.,sbéb Eree DT
5’3 0 2ove (3) M (HBosod.
d) 3)H Jddrerdo faéaocbs) ooren I, IT 593 srar DTY0 S°8 VGIY) G030 VJVC0
eond D 2Jrew (4) e tHBosod.

Sub questions

Question Number : 1 Question Id : 7473902323 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For real number a and b, is ab<0?

TRD Dogdf a B0 b %0, ab<0 eHAT?

. a/b<O

II. a+b >0



Options :
1.9 1
2.% 2
3.3
4. % 4

Question Number : 2 Question Id : 7473902324 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many marks did Sravan get in Science?

DS 3965 & D) A 0 HEyoW?

I. He got 70 marks in English

083 Qones’ 70 H0°E) e Seeyo0

II. He got 160 marks in Science and Mathematics put together

33 2Oy LB (E3s0eS” $BD 1608TE) e SHeyow.

Options :
1.%1
2.%2
3.%3
4.9 4

Question Number : 3 Question Id : 7473902325 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is a=b?
a=b €95)eD0T"?

I. ab+a=10
II. a2+b?=2ab

Options :
1.%1
2.4
3.%3
4. % 4

Question Number : 4 Question Id : 7473902326 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many students passed CAT examination this year?

& oSS0 T4 DOLES” Dodh D0d Dr§Eren E&BEVOSTIE?

I. For the last two years, the number of students failing CAT examination is

mcreasing at 15% per year.

t5 Bolgorr s°4¢5 H85e5° 2anes DB D§Ee Doady DS 15%
DS 0.

II. Two years back 20,000 students passed CAT examination.

Goliy S0 575 HOLES” 20 ,000 200d DTrgEren ESHVOITID.

Options :
1.% 1
2.% 2
3.3
4. 4

Question Number : 5 Question Id : 7473902327 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the rate of interest?

:aé, BN EFD0A?

I. The simple interest accrued on Rs.22.500 at the end of forth year 1s Rs 10.800.

TPeOrD RoDBE H0AcRDS” 6 . 22,500 £ 2k edly Feeoe ag}
&. 10,800

II. The compound interest accrued on  Rs.22500 at certain time at certain rate is
Rs. 5,724.

DG 000" DS Gewd 6. 22,500 D 25 900D BEIG 6. 5,724,

Options :



1L.¥1
2.%2
3.%3
4.8 4

Question Number : 6 Question Id : 7473902328 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

When 1s Adinarayana’s birthday this year?

& IO BETT 0L DBIT IDND?

I. It 1s between January 13 and 15. January 13 being Wednesday.

2000 13 0808w 15 06y, 2808 13 endardo.

IL. It 1s not on Friday.

QO BOGT°Co T°ED B

Options :
1.¥1
2.%2
3.%3
4. % 4

Question Number : 7 Question Id : 7473902329 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the monthly salary of Swamy?

3"5&) DO E¢Ho Doh ?

L Swamy gets 15% more than Srinivas while Srinivas gets 10% lesser than

Murali
BV oS J( 15% LD Tode, J08P Lo IITD 10% S€.D

DoTED

II. Murali’s monthly salary 1s Rs.2500

089 do Beho Gr2500.

Options :
1.%1
2.8 2
3.¥3
4. % 4

Question Number : 8 Question Id : 7473902330 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Buses are always punctual in city X. How long, at the most, will Mr. Sharma have to

wait for the bus?

X 36065 R0y DYKDYET DIADI D Q0. 36), TP LRy o

Do) W) Eotrd?

I. Mr. Sharma has come to the bus stand at 9 am

36), T &cSado 9 (fotrwtd w@%c‘ié DTN .

II. There 1s a bus at 10 am and possibly another bus even earlier.

&C30300 10 (oS 80y &od. DAL WodDH S00B T’ R

Godétﬁ)‘).

Options :
1. %1
2.8 2
3.3
4.¥ 4

Question Number : 9 Question Id : 7473902331 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Some social workers are generous; Some generous people are rich.

§oth0d JAares SPE(SEen T CorT €083°8D; o &7 SNV

GdSoehew.

I. No social worker is a rich;
D FrABRE TTE(SE BDD0BID T ;
Il. Some rich people are social workers.

Sod008 GBS0 JATres STE(SeD.

Options :
1. %1
2.%2
3.¥3
4. % 4

Question Number : 10 Question Id : 7473902332 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the interest rate per annum?
28 RoDINTIS HG Gew dodh?

I. The difference between the compound and simple interest on an amount of

Rs. 1,15,500 is Rs. 415.8 at the end of 2 years

65°.1,15,500 2 2 oS00 0A0a)DD WIS bé 8o Joedes éé Svlaly

S0 65°.415.8.
[l. The simple interest earned at the end of one year is Rs.2420.

208 DoDB G0 DHBe5° SBy Froes aé &r.2420

Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 11 Question Id : 7473902333 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Is °x’ divisible by 107?

107 & X’ DB 2 HocdeI 0T ?

L ‘x” 1s multiple of 749
X D8 7498 easGo

II. x’1sacompound multiple of 7 and 37

'X' 0998 7 8o 37 oansbem&é Oeaso

Options :
1.¥1
2.8 2
3.%3



4.% 4

Question Number : 12 Question Id : 7473902334 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the interest earned in three years?

ArEFS” DD\ G Dodh?

L. Principal 1s Rs.1000

e Rs.1000

II. Rate of Interest 1s 5% per annum

BC B 2oDB\0°S 5%

Options :
1.% 1
2.%:2
3.3
4.¥ 4

Question Number : 13 Question Id : 7473902335 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Among five friends- A, B. F, G and H who are driving at different speed. who 1s the

second fastest?

DA D) A’ A, B, F, G 208050 H 28) %) 6 a8), Drio8 Hosredomri.

Gotesd 9805 D3S0BDIE DDE?

I.  Oaly F is slower than A. B 1s faster than H and G.

A Soé3 F aor¢ghand QAT otrcd. H odato G S0é3 B DifotT €0e3°¢d.

II. G s faster than A and F. H 1s slower than B but faster than G

A 208050 F Sot5 G Dtfor €0tcd. B S0 H 2:0) &I &sotred =) G

083 Do Soltrd).

Options :
1.%1
2.¥2
3.%3
4. % 4

Question Number : 14 Question Id : 7473902336 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What should be the selling price of a fan so as to make a profit of 25%?

25% erzio Jotrerotd 3"55 9550) S B8 Do &o®?

. The shop dealer quotes fan 80% above the cost price and after allowing a

discount of 10% he claims a profit of Rs.1500.

D GOb FID DAy SO S0t 80% S 56 DY A% 10% SN0

29300 0D ST 9 61500 ) oo BIE.

II. A shop keeper sold the same fan for Rs.3.000 and got a profit.

208 XD $H6 0d F§) 6.3,000 8 Q) ergo Forrew.

Options :
1.% 1
2.8 2
3.3
4.¥ 4

Question Number : 15 Question Id : 7473902337 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which is the day of the week of Fathima’s birth date?

FALr DO B TGS’ B B?

I. The day on her birth date 1s at least after two days from Wednesday.

92D LDAD T S0 aBTBo Mod Goth Farw STA.

II. She celebrated her birthday in 2006 after five days from the Independence day
of India.

OB bséogzs B0 od D Fare ST 200665 30 S

OB 2EDLA.

Options :
1.%1
2.¥2
3.83
4. % 4

Question Number : 16 Question Id : 7473902338 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What will be the population of City X in the year 2030?
2030700536’936&1)66 X 18 2235°25° Doth Eotodd?

I. In the year 2015, the population of City X was 1,50.,000;
2015 200880085° X 56 235°2°.1,50,000

II. Population growth of City X 1s 3% per annum.

X366 2 50 [o]A%) ;’Oobébo";’)é 3%

Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 17 Question Id : 7473902339 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many students are there in a class room?

28 SBHS (0S° Dodh o8 DrjEHenT) & ?

I. If 3 students leave the class. then the class has less than 8 students

Bebblgtlel) &’)w’lgd)w SEHEA 3O Dod DY %) & 8 ot SEURS Z)cysdow
0 ® -0 @

ot

II. If 3 students enter the class, the class has more than 12 students.
DS DTfEen SEAS (& S8 PIIP @) ¢ 12 S0 Dy D DT§EOe

&otrdD.

Options :
1.% 1
2.8 2
3.3
4. %8 4

Question Number : 18 Question Id : 7473902340 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For real numbers m and n. 1s m < n?

TPRD VoL M, N VO M< N WYBVT"?

I. m and n are positive

m 08030 n e cja"é&So

3 1 P
II. m*>n°

Options :
1.% 1
2.8 2



3.¥3
4.8 4

Question Number : 19 Question Id : 7473902341 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the radius of a sphere?

SR 0)) D‘:Sb“go Doeh?

[. The surface area of a sphere 1s 8 sq. units

28 F¥d) eddsw D00 8 .07

II. The sphere 1s placed in a cube shaped box

28 Ao 208 DT SE) 3)63&36 EotiRCod.

Options :
1.¥1
2.8 2
3.3
4. % 4

Question Number : 20 Question Id : 7473902342 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Will it be a Sunday tomorrow?

3 e3&TGo Hor?

I. Yesterday was not a Friday

Q) BOET"Co 5D

II. Sunday 1s a Holiday

2287700 VW) Ao

Options :
1.¥1
2.8 2
3.%3



4.% 4

Is Section Default? : null

Question Id : 7473902343 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)

Problem solving Q2R 0B, Bo

Sequence and series e DG SBa%L Fraew
Analogies FETO S0

Note: -

In each of the following questions (from 21 to 25). a sequence of numbers or letters that follow
a definite pattern is given. Each question has a blank space. This has to be filled with the correct
answer from the given four options to complete the sequence without breaking pattern.

AR -

€08 AN DA OB (21 dood 25 ) SV QLN OB T VETLD MR 28 SVWSIOD
DoDATY) FEWT) 0w, DA HDI) S O] AV TreND DONTV Mol VO
25°20 D&Y E a0 oD Foffo SOriHor Yyrdocdod:

Sub questions

Question Number : 21 Question Id : 7473902344 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

9:25:: 49:

Options :

64

1 ®

, » 100

8l

. 121
4.

Question Number : 22 Question Id : 7473902345 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



EIM : HLP == DHIL :

Options :

GLO

. GKP

. HKO

GKO

Question Number : 23 Question Id : 7473902346 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

COMPUTER: FQPRXVHT::LANGUAGE :

Options :

4 OCQXICGI

| « POCQXIG

_ OCIQXCIG
3.9

OCQIXCIG
4.Y

Question Number : 24 Question Id : 7473902347 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

EIGHTY: GIEYTH:: OUTPUT :

Options :

. » TUOTUP
, « TUOUTP

, » TUOTPU

L ® TUOUPT

Question Number : 25 Question Id : 7473902348 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

MHZ. NIW, OKT, PNQ,. ?



Options :

. QON

1.

QFN

2‘06

L v QRN

4.% (B

Is Section Default? : null

Question Number : 26 Question Id : 7473902349 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 29008807 803 Frwew
Odd thing Out 2B IS 8ot

Find the odd thing out from the following

& $08 QDN DDYE S OIS (Dotdols

Options :

Heart — (OO

Eyes -8%00
2. ¥

, » Lungs— 03t

_ Kidneys - o007(€50053°CD
4. % C =

Question Number : 27 Question Id : 7473902350 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 29008070 0803 Brew
Odd thing Out RBY'OAE 8oL

Find the odd thing out from the following

& 308 FDYD DTS VBT OIS (Hotdols

Options :

Mica — @9 2580

- Tron - QoD
., Chlorine — §©5

& -ZANe= 2208

Question Number : 28 Question Id : 7473902351 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 2908070 803D Fraew
Odd thing Out 2BY'OAE 8ot

Find the odd thing out from the following

& 208 AV DTS VET'OIS (Hotsols

Options :

Question Number : 29 Question Id : 7473902352 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 290807700 0803 Fraew
Odd thing Out DBY'VAS B0t

Find the odd thing out from the following

& 308 FDYD DTS VBT OIS (Hotdols
Options :

Ink -QO0°

1 ®

_ Paper — 3¢50
2.%

, » Pen— LD

v Sharpener — a0 )00

Question Number : 30 Question Id : 7473902353 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 29008070 0803 Brew
Odd thing Out 2DBY’VAS 8ot

Find the odd thing out from the following

& 208 AV DTS VET'OIS (Hotsols
Options :

| Canal — €0

. Tank — IR{OVN)

2.

", Ocean - ISV IN W[ Te)

3

, Pool - DTN

4.

Is Section Default? : null



Question Number : 31 Question Id : 7473902354 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 29087700 803 Fraew

Missing Number/ Terms &3 Roadjen / Howen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - $08 DY OF) 28 DOBD DATT°R FEBR0E. &8 DLPT W

5:9008) BIOND DITTEHoS PV DPBoSod.
625528 & =35

Options :

Question Number : 32 Question Id : 7473902355 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 29 DGA07e0 HB0%L Frew

Missing Number/ Terms = &y Doadjen / Howen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

ATS: - §0d FDND VB 28 HONIDOD DI JBR0B. 8 HAPTR
$3:9000) DBeIOND DAFTPHoS VD HIPBotIod.

Which number would replace the blank in the series? 1. 6, 26, , 426.
1, 6, 26, L 426. 370 AW Dot T-HVDD Doa

Options :



76
86
96

., 106

Question Number : 33 Question Id : 7473902356 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 29GATre H8aL Frew

Missing Number/ Terms — &03& Dogdgen / dren

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - $08 FADYD OF) 28 DOBD DTT°R FEW0E. &8 DLIPT

(3:900) BIOND DATTEH0S VD NYPBotsod.
45.38. .24.17.10.3

Options :

L x 34

Question Number : 34 Question Id : 7473902357 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 29 0GA°e0 803 Fewew
Missing Number/ Terms = &y& Doadyjen / dDoen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Qe - $08 DY OB 28 DDBD AJTTR FEW0E. &8 DLIFPT°&D

$3:5000) DBIOND DITTEH0S PV DPBotSod.
710,811,972,

Options :

7

1 ®

, v 10

172

-

13

4 ®

Question Number : 35 Question Id : 7473902358 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 29 DGAT7e0 B0 Brew

Missing Number/ Terms = &\& Doadjen / doen

Note:- The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - 08 DN OF) 28 DONBND DT T°R FE0E. &8 DLIPT

(3:500) BIOND DITTEHS VD DPBotsod.
F2, _, D8, Cle, B32.

Options :

Al6

1 ®

G4

22‘&‘

, v E4



, = E3

Question Number : 36 Question Id : 7473902359 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 29080700 0803 Fradew

Missing Number/ Terms = &03Q Ddogdjen / Hren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

QAeS: - 08 ADND DB 28 PONBARD AT A FEW0B. @8 DBPT

355000 DBOND DATFTHDS VD PO,

WA4C, T9F, . N25L

Options :

LQu
. PI6L

2.

Qe

. P16l
4.

Question Number : 37 Question Id : 7473902360 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 290G 00700 083D FLaew
Missing Number/ Terms e‘.’sbbaﬁ Doafe / DTEen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

QAR - $08 IO OF) 208 DDYBAD DT JEW0B. &8 DJITT°RD
355000 DBIOND DATFTHDS PV IFBoI0s.

2.1, 102 114

Options :
1/3

1 ®

Question Number : 38 Question Id : 7473902361 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 290G 0°e 0 HO803D Feavew

Missing Number/ Terms — &0y& Doadjen / Hrren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

Qe - $08 IO HF) 28 DDV AT FBW0B. &8 DFPT°RD

5590D08) DBRIOND DITTEHoS PV DPBoSos.

N

9.16, 23, 30, 37, 44, 51,

l

Options :

% 59 .66



58, 66

Question Number : 39 Question Id : 7473902362 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 2900807 803w Brwew

Missing Number/ Terms = &3 Qdoad{en / Howen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

QAR - $08 IO 0F) 28 DY DT W0, 8 DJITTRD
3000 DBIONVD DAFTH0S aPVD $IPBotiods.

36, 31,29,24.22, 17,.1

N
>

Options :
L= 13

% 12
L= 14
410
Question Number : 40 Question Id : 7473902363 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Sequence and series 290G APen SoBaiy Fewvew
Missing Number/ Terms = &2y Qdoad{en / Howen

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

AR - $08 IOV DF) 28 DDA DT JEW0B. &8 DJITT°RD
500D DEIOND VAFTHS VD IPBotiod.

Al; ES, 19,015, ?

Options :

Question Number : 41 Question Id : 7473902364 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Sequence and series 290G H8aiD Frew

Missing Number/ Terms — &0y& Ddogdjen / dren

Note:- The following question follows a definite pattern. Observe the same and fill
in the blank with suitable answer.

QPSR - $08 IO DF) 28 DDA DT IR0, 8 DJTT°RD
500D DEIOND DATFTCHoS PV IPBotiols.

0.15, 0.3, 1.2, 2.4,
Options :

« 48
1.

Lo 06



. 0.006

. 0.9

Question Number : 42 Question Id : 7473902365 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sequence and series 290G 80D Feavew
Missing Number/ Terms = &y& Doadjen / dtren

Note: The following question follows a definite pattern. Observe the same and fill in
the blank with suitable answer.

APesR: -G08 TN DB) 28 DOBDD DL FBWoB. &8 AT

$3:9000) DEIONVD DATTEH0S PR DFBotIod.

P3C. RSE, T8I, V12L, ;

Options :

Y170
, X170
X17M

®

« X160
4,
Question Number : 43 Question Id : 7473902366 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions §&of £08asn G&'&oh IS RNV
Code Pattern §'6& daoraren
Note:-

The following question uses a different coding pattern. Identify the pattern and

answer the question.

A~ §od ADND D) £ DI E'doh HAPTP EOATATE. €3 DATTRD

(0800, ¥ L VITTTdo Yrdotsod.

47,57, 61, 73,
Options :

47

Question Number : 44 Question Id : 7473902367 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions §&of &08a50 &8 &oh ENSUSIOY
Code Pattern §& dauraren
Note:

The following question use a different coding pattern. Identify the pattern and answer

the question.

RS- S08 QN 0¥) L SO 00 AT EHAIACETH. €3 DAPT D

800, DB D VAT Qé&od.

FYSALABAD 1s coded as 8 and ISLAMABADH as 9, then what 1s the code for
ZAAHEERABAD?

FYSALABAD & 8 e, ISLAMABADH < 9 °ad §& z_Dﬁq,) ZAAHEERABAD
A e §& BE?

Options :

4% 11

Question Number : 45 Question Id : 7473902368 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Coding and Decoding Questions §&of &08a50 G&'&oh ISR
Code Pattern §& ddaearen
Note:

The following question uses a different coding pattern. Identify the pattern and

answer the question.

AT So8 AN D) D DO E'é0f DAFrT R GHAITROEED. €3 DA
800), 0%) D DIrTrdo 'aaﬁsoé,

LOSE 1s coded as 1357 and GAIN i1s coded as 2468. what do the figures 84615 stand
for?
LOSE Q) 13571 000 GAIN Q2468 1 §°6% TR, 8461500500 B
QI PON?
Options :

« LANES
, = SLAIN
, v NAILS

SNAIL

4 %
Is Section Default? : null
Question Id : 7473902369 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :

NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 48)



Coding and Decoding Problems:  §&of 08050 &8éoh SISV
Code Pattern: & ddararen
Note:

The following questions use a definite coding pattern. Identify the pattern and answer the

questions from 46 to 48.
ESBLIATSE

3068 ADD DB O POVBEWD F'Boh JBUPT GDWBTAEED. &8 DJTTRD (HBD)
46 Q00 48 HOLDH AN DF) VDO BTE VDG
Sub questions
Question Number : 46 Question Id : 7473902370 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Each n'® letter in English alphabet is coded as (n+10)® (Modulus 26) letter. Reverse
process is used for decoding. Using this coding and decoding process, answer the

questions.
808 es0ff EBITO &5°D HA n B Lo ( n+10) (modulus 26) S evgdorr E&
BODLICOH08. & Gt De5sd HAH &HOBrATE. & §doh,

GEGoh DDV EDATAOD VB VLD BTED DG

ABSENT 1s coded as
ABSENT % §&

Options :

. KLCOXE

~ KLCOYD
2. %

.« KLCPXD

e, KLCOXD

Question Number : 47 Question Id : 7473902371 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Each n'® letter in English alphabet is coded as (n+10)™ (Modulus 26) letter. Reverse
process 1s used for decoding. Using this coding and decoding process, answer the

questions.
$08 es0f LB &5°D HA n S S0 ( n+10) (modulus 26) S evgdorr §&
BODLICOH0S. & G0t De5’sd HAH &DBrAo. & §doh,

GECoh DDV EDATAOD VB VLD BTED DG

How many vowels are coded as vowels?
TN §¢0 BODIED EIND D) ?

Options :

Question Number : 48 Question Id : 7473902372 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “SEDATIVE” is Pain “SOLACE” is to ?
" SEDATIVE " @30 ') 8§ @00 " SOLACE " B3R8...?

Options :
~ Kill -0

_ Grief — €00
« Hurt - 220)08 DEY

Irritation — T3S0
4. ¥

Is Section Default? : null
Question Id : 7473902373 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :

NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (49 to 51)



Problem solving: R0 D8I Bo
Sequence and series: 290G TP 80D Fewew
Analogies : F A

Note: - In each of the following questions from 49 to 51 a sequence of numbers or letters that
follow a definite pattern 1s given. Each question has a blank space. This has to be filled with
the correct answer from the four given answers to complete the sequence without breaking
pattern.

Asd: - 808 QDN D3 DB) 49 ol 51 & FDND Doaen ™), VLT T 28
SA0GAD DATT A FBRT) 0. DA VB) S BV FOND TD DNSO Wod

DBADR 2277200 DAY E'D G DoDATAS Forfo ST QyrBotsod.

Sub questions

Question Number : 49 Question Id : 7473902374 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

45,40, 34, 27, 19,

Options :

% 12
w12

9

2‘0&

11

3%‘

s v 10

Question Number : 50 Question Id : 7473902375 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

2,6, 18, 54,

Options :
o162

Question Number : 51 Question Id : 7473902376 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



ECA, JHF, OMK, 5
Options :
_» PRT

, » TPR

TRE

3 ®
, v TRP
Is Section Default? : null

Question Id : 7473902377 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)
Date, Time and Arrangements problems:

A, DA% S80I W8S R0 e0:

Note : -

The following questions from 52 to 55 are related to Date, Time and Arrangements

problems.
AP -

Sods Q&Qé 52 &od 55 S8 ’Q%;).w A, HAVODo 8oL e9BsL “co:)o{ozgw
202050V D.

Sub questions

Question Number : 52 Question Id : 7473902378 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

At what time, between 1:30 pm and 2:00 pm will both hands of a clock be at right

angle?
1.30 pm 208050 2.00 pm &6 BE0PGE0e° Totkd BTy MDY Vo8 TT)

fbdbd@*’on?

Options :



57 = Minutes past 1.00 1 — 57 =
11 11

1 ®
53 — Minutes past 1.00 1 — 53 —
17 Vinutes past 1. = o
2. ®
6 - 6
54 — Minutes past 1.00 1-54—
11 11
3 ¢

- 4
563 Minutes past 1.00 1 — 563

Question Number : 53 Question Id : 7473902379 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the fifth day of a month is Sunday, which will be the fourth day from 23 of that

month?

208 DeS° 55 Bar esBT B0 9003, €3 DS’ 23 SST S Treiis T DA?
Options :
~ Tuesday - SDORF G0

1 ®

., Monday - NN ele

2.
Wednesday - 20630
3.
Saturday - 3OO0
4.

Question Number : 54 Question Id : 7473902380 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Ravi has come to a meeting 45 minutes late but 33 minutes before the arrival of Srinivas
who has arrived 56 minutes later than Ramana. If Ramana came to the meeting at
11.07 am the meeting 1s scheduled at

6D QoA 45 DIV VOO JTPYED. 57 ZATD o 33 Jare B
DTN, Boed Sol3 56 VIS IR 01T ADTD DTN . Bves &soo 11.07 am

RAPITAS D VATDF S Do Dodh?

Options :

_11.25am
1. %

. 11.00 am
2%

" 10.30 am

WV 10.45 am

Question Number : 55 Question Id : 7473902381 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Somalatha says Prasad’s grandfather is the only son of my father. How is Somalatha related
to Prasad?

OO TS 7 TA) D 28 FOD ) JVS 3D d. FVS , DFE D
D205)A008?

Options :

. Daughter - 5750

1.

Sister — OO

22)6

L Niece — a0S8Cen
_, Grand Mother — €960 20002

Is Section Default? : null

Question Id : 7473902382 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)



Problem solving : 20y ‘6363"660
Data Analysis : %03 D323
Table or Graph: ‘&)QS TT° Ted

The following table shows the production of cars by a company from the year 2015 to 2020.
Read the table and answer the questions from 56 to 60.

$08 DOSS® 2015 B0od 2020 SBL 50D TG &S 1A APDB. HES WEODO B
208050 56-60 H) 0D DATTD0 RDOE.

Type($30)
/Year(D09¢5)50) | A B C D E
2015 10 24 32 28 36
2016 16 26 30 36 40
2017 20 22 28 32 38
2018 24 20 26 30 32
2019 28 24 32 34 42
2020 32 36 34 38 44

Sub questions

Question Number : 56 Question Id : 7473902383 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of type B and type D cars produced in 2018

201865 €565 3163 DO B B350 08050 D $E0 528 D)€
Options :

i 32
1.

Question Number : 57 Question Id : 7473902384 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which type maximum number of cars produced during 2015-2020?

2015-2020 © &’ &) B350 59 KOO es¢518d 9O 5ON

Options :

1. % C

Question Number : 58 Question Id : 7473902385 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of Type A and Type E cars produced i the year 2020 is
2020 H03¢5 Y306’ 5e5 3183 AN A $E0 DB E 350 528 A

Options :
4:5

_10:11
4. %

Question Number : 59 Question Id : 7473902386 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of cars produced during the year 2020?
2020 R059y60&5” &9\ BaDeGd Ao S°¢ Vo) Jod?

Options :

184
. 204

2.

L% 174

. 194
4.

Question Number : 60 Question Id : 7473902387 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, maximum number of cars are produced?
D R0DBG0e5” b BS Vo(ES” TV ENE SobHerron?

Options :

| 2017
2019

L« 2018

, v 2020
Is Section Default? : null

Question Id : 7473902388 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)

Problem solving : oD )Xy S0

Data Analysis : 004 D3)€d

Bar Diagram or Pie chart : 25°0 (79 S 2 Q|50

The following Pie-Chart shows the percentage of expenditure incurred in publishing a book

Read the Pie-chart and answer the questions 61 — 65.
€08 D-tr§ 28 YIS VBIErAS 03| WY TT°Q) BIYSV0E. P-TG

e9¢3( D0 DD S0d 61- 65 0%) 0D VAT 'a:.»so&.

Printing
— =z | Cost 209

Binding 20% Paper Cost 25%

Sub questions



Question Number : 61 Question Id : 7473902389 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a certain quantity of books, the publisher has to pay Rs 30600 as printing cost,
then what will be the amount payable as royalty for these books on total cost.

8A 85772065° VST §'00, HLVGLISE 20 BN 6. 30,600 B38od,

e

WD & DRSO DAND TADHYT 3Yorrdy 2o Dots?

Options :

_ Rs. 19450
1. *

- Rs. 21200

Z?N

_» Rs.22950

, « Rs.26150

Question Number : 62 Question Id : 7473902390 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the central angle of the sector to the expenditure incurred on Royalty?

@()ﬁs@f‘o_o FDHOT H3ATIE DTS AWBE), 0[S §'e90 Dae3?

Options :

0
1% 15

249
2. %

40
3.\¢54

0
4. % 48

Question Number : 63 Question Id : 7473902391 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If 5500 copies of a book are published with transportation cost of Rs. 82500, then,
what should be the selling price of the book with profit of 25% on total cost?

28D¥ 2.8 RS0 aws); 5500 sFaeD D80t T e OEONE>. 82500
WODLICRL0DS, QRN DJOoR 25% erdo Torreotd S0 AB0E); V) S8
&6 Doth Got®?

Options :

v Rs.187.50

, « Rs.191.50

~ Rs.175
3™

. Rs. 180
4.

Question Number : 64 Question Id : 7473902392 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

The price of the book is quoted 20% above the cost price. if the quoted price of the

book is Rs. 180, then what is the cost of the paper used in a single copy of the

book?

DRG0 36 DSOS BB S0 20% D& I DaHesdod. Do AE), VSBS B &
180 @008, 2R%o AINE), 28 TS’ EOATNDD S Hto B8 dodh?

Options :

1% Rs.36

, » Rs:37.50

3 % Rs.42

. Rs.44.25
4. %

Question Number : 65 Question Id : 7473902393 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

How much less percentage is the royalty on the book than the printing cost?
J0EE AN S0t Yo U°o:i>§ DN dodh F°Bo ) 5?7

Options :



N
©
o~

L% 25%
Is Section Default? : null
Question Number : 66 Question Id : 7473902394 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date. Time and Arrangements problems &8, oo 08050 @8 DD

Which symbols have to be interchanged to equate the following?
12-2+3x4-+4=14
$08 DASGEF) Do BOLTAS D DLFY VR DEYBo ATENETD?

12-2+3 x 4 +4=14
Options :
.—fand =

e SHBAK +

‘“+” and “-*
4+ SO -
‘x’ and ¢-°

%) aDaN0 ¥

‘+” and ‘X’

“+’ B X’

Question Number : 67 Question Id : 7473902395 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time, and Arrangements problems @&, 20030 08030 8% SNV

What dates of July 1995 did Friday fall?

2@ 199565° 3087760 D BdwS” deyow?

Options :
w 06,13,20,27

L« 03,10,17,24

07,14,.21,28
3.9

L« 04,11,18,25

Question Number : 68 Question Id : 7473902396 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, 20030 08030 e85 SRRSOV

If ‘x’ denotes addition (+). ‘y’ denotes multiplication (x). ‘z” denotes subtraction (-) and
‘p’ denotes division(+), Then « 6y10p2x5z8 1s equal to”

‘X ?OOSQ)D"DQ_H) IS Y mmwbl(x), = bsbée)a"bl(-), ‘P DFRdD
(+)2Qocs @) " 6y10p2x528” < ddrdo.

Options :
35

Question Number : 69 Question Id : 7473902397 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems &8, 2000, 8050 9085 SISOV

What 1s the angle between the minutes hand and hours hand when the time shown in the
clock 1s 5.30 pm?
HEIPE0ES” Do Froogo 5.30 BIrDoDVRDNE DAV H0QOL ot

A0 e Eero dodh?

Options :

B

Question Number : 70 Question Id : 7473902398 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time, and Arrangements problems &8, 20050, 08050 e85 SISOV

2

The number of seconds in 10/15 of an hour 1s

28 oty &5°D 15/10 eriaanes” DSogs Doy "

Options :

. 2200
1. ™

2400

. 2100
3.

2500

4 ®

Question Number : 71 Question Id : 7473902399 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems &8, d:0030, So8aiw e85 R0

Which of the following is a Leap Year?

&2 (808 37¢365° O D055 IES50 DE?
Options :

= 2007

, v 2016

, » 2001

1997

Question Number : 72 Question Id : 7473902400 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems S& OO DBON €9s0BEE HeNO5EN

Pointing to a person, a man said to a woman, "His mother is the only daughter of your

father." How was the woman related to the person?

2,8 5580 TIrD0D), 2.8 [ & Q05 58 Yer @) & "eed SO
S0(58 DB Ect." €3 2.8 558 €3 [ DENH0ES Hod0d 23708 H50 A
50N 0E?

Options :
Aunty — b
.Y

_ Mother — €953
2. %

~ Wife — 278§
3. "

~ Daughter — $5°¢5 0

4 %

Question Number : 73 Question Id : 7473902401 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Date, Time and Arrangements problems &6, 0000 sHOAN @085 HadDTEN

A. B. C, D and E are sitting on a bench. A 1s sitting next to B, C 1s sitting next to D, D 1s
not sitting with E who is on the left end of the bench. C is on the second position from the
right. A is to the right of B and E. A and C are sitting together. In which position A 1is
sitting?

A. B, C, D S0B030E a8 BoS P Sr8\J &I 0. B 800 A &r8\D &7, D
SOTS C Er8 D &) 0. I DIBIPDD e &r&\D &3) E & D &r&3D
e, C AP 206 Botssd Fd0eS” &) 0. B 080k E 050 D& DS A 677 €.

A 208050 C 8D Sr8\D &xr) . A S8y Fdo DB?

Options :

Between B and D — B &8ac30 D mQS

1. %

. Between B and C - B 8030 C aﬁ)qs
2.

" Between E and D - E 6030 D mc_:>5

. Between C and E - C 08030 E mc,s5
4,

Question Number : 74 Question Id : 7473902402 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, 0030, 08035 8% (NS USIY

On 8th Dec, 2007 Saturday falls. Which day of the week was it on 8th Dec. 2006?
8 G088, 2007 3J3°Go H0. 8 Goed 2006 S T°60eS” @ Fer Hod?

Options :

, Sunday — es3&E0
I

. Thursday — g\ eV vlele)

2,4

- Tuesday — DO GO



Friday — D880
4.v -

Question Number : 75 Question Id : 7473902403 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Date, Time and Arrangements problems &8, D030, o800 985 R0

Three times the first of three consecutive odd integers 1s 3 more than twice the third.
The third integer is:

S00°C SR 83D RYITrosTRe)” ANEHE e BED 3 LT S0t Toch T

oDSJzI&f). bbb lnde) Q}"g"oSo:

Options :
.9
1.~
11
2. %
13
3.7
4.¥ L
Communication Ability
Section Id : 74739035
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 54
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 76 Question Id : 7473902404 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning: Nomadic

Options :

Naked

*



« Noisy
2.

 Wandering
3.

o Unknown

Question Number : 77 Question Id : 7473902405 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the correct meaning:

Options :
_ The lion its prey.
% )

. Sympathized

% Angered

» Protested

Question Number : 78 Question Id : 7473902406 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Inertia

Options :

_ Smartness
1. %

Sluggishness
2.¥

_ Thoroughness
3.8

L% Meanness

Question Number : 79 Question Id : 7473902407 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Foliage

Options :

s Edition



L v Leaves

Autumn

Foolish
L%

Question Number : 80 Question Id : 7473902408 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Lucid

Options :

v Clear

- Blurred
2. W
Darkened

_ Confused
4. %

Question Number : 81 Question Id : 7473902409 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:

Dynamic

Options :

Changing
.Y

_ Static
2.

3 ® Inflexible

Inactive

Question Number : 82 Question Id : 7473902410 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Menace



Options :
Armour

Threatening
Axil

Mild

Question Number : 83 Question Id : 7473902411 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
‘To endorse’ is to

Options :

L% Reprove

L v Approve

 Intimidate
3.

Rectify

Question Number : 84 Question Id : 7473902412 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Alleviate
Options :
Deviate

) Lessen

~ Enhance
; %

L Invite

Question Number : 85 Question Id : 7473902413 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Choose the correct meaning:
Cumulative
Options :
Disconnected

, Disintegrated
» Combined
3.

Confused

Question Number : 86 Question Id : 7473902414 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct meaning:
Intimidate

Options :

s Consult

, ¥ Humiliate

Update

» Undergo

Question Number : 87 Question Id : 7473902415 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym
Fascinating

Options :

Attractive

, ¥ Borimng
_ Vibrant
3.

_ Interesting
4. %



Question Number : 88 Question Id : 7473902416 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the antonym:
Exit

Options :

L Enter

Excite
L Execute

" Entice

Question Number : 89 Question Id : 7473902417 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym:
Diligent

Options :

v Conscientious

Careless

5 Confused

_ Combined
4. %

Question Number : 90 Question Id : 7473902418 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym
Fastidious:
Options :
Meticulous
LV

_ Negligent
, ®

Careless

_ Indisciplined
4.%



Is Section Default? : null

Question Number : 91 Question Id : 7473902419 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
A record of the money that other people and businesses owe to you is called
as

Options :
Accounts recervable

il

1.

Accounts payable
2. %

_ Capital
3. %

~ Margin
4. %

Question Number : 92 Question Id : 7473902420 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
A timeline that is too short and doesn’t provide enough room to get everything
is completed is called as

Options :
| v Aggressive timele

L ® Intensive timeline

, Congested timeline
3.

_ Circle back
4. %

Question Number : 93 Question Id : 7473902421 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
The process by which you measure performance of a company’s product
against best in the industry is

Options :

. SWOT



_ Metrics
, ®

Core competency

, Benchmarking
4V

Question Number : 94 Question Id : 7473902422 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

A computer that has been hijacked by a hacker without the owner’s knowledge
and used to perform malicious tasks on the internet.

Options :
Zombie

\\f

1.

L ® Malware

Virus

Firewall

Question Number : 95 Question Id : 7473902423 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

The key that uniquely identifies each tuple or row in a table is the

Options :
Primary Key

Secondary Key
2. %

Plug-in Key



Prompt Key

Question Number : 96 Question Id : 7473902424 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer
A light sensitive style for forming graphics by touching coordinates on a display
screen to draw directly on the screen:

Options :

_ LINK Pen
L%

LINUX
2.8

LIGHT Pen
3.

Stylus
4. %

Question Number : 97 Question Id : 7473902425 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
‘Blue chip’ refers to

Options :

» The most reliable companies
1.8

Companies with account scandals

_ Companies refusing to pay debts
3.8

Asset misappropriation by companies
4. %

Question Number : 98 Question Id : 7473902426 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

‘Start Up’ may be defined as

Options :
Forward thinking business

o

1.



4 » Arrangement in order of rank

Conventional business

Hereditary business
3. %

Question Number : 99 Question Id : 7473902427 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
Laissez-faire policy is

Options :

., Least corruption in business

Private business with government control

Ideal business run by women

., Private business without government control

Question Number : 100 Question Id : 7473902428 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
If GDP is bigger this year than last year, then India is experiencing

Options :
Economic growth

~ Fluctuations in economy
2. %

_ Economic depression
3- *

. Price rise
4.

Question Number : 101 Question Id : 7473902429 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Online character
4. ¥

Choose the correct answer:
Avatar is

Options :

_ Incarnation
1.5

~ Film producer
2.8

~ Resurrection
3.

Question Number : 102 Question Id : 7473902430 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:

BCC is used for
Options :
Sending a message to more than one person while hiding the E- mail addresses of
v others from each recipient

Hiding the E-mail address of the sender

Identifying illegible carbon copy

L ® Sending E-mail only to one person

Question Number : 103 Question Id : 7473902431 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct answer:
‘Blog’ is a short form of:
Options :
o Be logical

. Bing log
2. L
T
S v Weblog

L ® Be logged in



Question Number : 104 Question Id : 7473902432 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Choose the correct answer:
The range of Bluetooth connection is approximately

Options :

" 100 feet

, »30 feet

5 ® 500 feet

« 10 feet
4,



Question Number : 105 Question Id : 7473902433 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Choose the correct answer:
Which of the following is not a programming language?
Options :
o Gk
1. %

, v Laser

Python

% Java
4
Is Section Default? : null

Question Number : 106 Question Id : 7473902434 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice:
How do people learn languages?
Options :

_ How are people learning languages?

1 *®

_ How languages were learnt by people?
2%

. How are languages learnt by people?
3.V

. How people learn languages?
4.8

Question Number : 107 Question Id : 7473902435 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:
The meaning of the phrase, “to put in a good word for”
Options :
, Make a favourable recommendation
LS

Negative remark

L Teach me a good word a day



., Inappropriate comment
4.

Question Number : 108 Question Id : 7473902436 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:

The meaning of the idiom, “To keep at arm’s length”
Options :
| To avoid touching someone

_ To trust a distant relative
. To avoid being friendly

.. To keep contact with old friends

Question Number : 109 Question Id : 7473902437 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate answer:

The meaning of the idiom “A bolt from the blue”
Options :
| ® Lightening in the sky

_ Tidal waves
2. %

v Complete surprise

L Long awaited event

Question Number : 110 Question Id : 7473902438 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change into indirect speech:
“We’ll be there tomorrow.”

Options :
| ® They say on the next day they are there

, They promised that they will be there tomorrow



5 % They wanted to be there tomorrow

v They promised to be there the next day

Question Number : 111 Question Id : 7473902439 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change into exclamatory sentence:
It was a waste of time.

Options :

P What a waste of time it was!
1.

, What a waste of time it 1s!
L How a waste of time it was!

~ What a waste of time 1t will be!
4. %

Question Number : 112 Question Id : 7473902440 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct sentence:

Options :
v Can you get another three packets of butter?

Can you get other three packets of butter?

Can vou got another three packets of butter?

_ Can you get another three packet of butter?
4. %

Question Number : 113 Question Id : 7473902441 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the correct sentence:

Options :

_ My youngest brother is medical student.
L®

L v My youngest brother 1s a medical student



My youngest brother a medical student

. My youngest brother 1s student of medical
4.

Question Number : 114 Question Id : 7473902442 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word
He reading for two hours:

Options :
v Has been

Is

2%

_ Have been
3. ®

4, % Had

Question Number : 115 Question Id : 7473902443 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill the blank by choosing the right word:
If he had had the money, he bought a Ferrari.

Options :
, = Would

) % Would have been

L ® Would be

AV Would have

Question Number : 116 Question Id : 7473902444 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word:
It is as easy to smile as
Options :

_ Frowning
1.



, % Frowned

;& Frown

_ Frowns
4. %

Question Number : 117 Question Id : 7473902445 Display Question Number : Yes Is Question Mandatory : No Calculator
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the right word
Either he or I going to do that.

Options :

Is

1.

) ¥ Am

Are
3 ®

. Was
4%

Question Number : 118 Question Id : 7473902446 Display Question Number : Yes Is Question Mandatory : No Calculator
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer.
There are many to the Mahabharatha in our daily conversation.

Options :
Delusions

1 >

_ Illusions
2. %

LV Allusions

L Elusions

Question Number : 119 Question Id : 7473902447 Display Question Number : Yes Is Question Mandatory : No Calculator
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate answer:
To be or not to be that is the .

Options :

: None

: None

: None



Question
v

Answer

5 Problem

. Confusion.

Question Number : 120 Question Id : 7473902448 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antonym of ‘irritate’

Options :
Displease

Frustrate

LV Placate

« Annoy

Question Number : 121 Question Id : 7473902449 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fill in the blank by choosing the appropriate preposition:
He achieved what others might have only dreamt

Options :

To

1 *
« with
2

. by
3. 9% o

4.\.yOt

Question Number : 122 Question Id : 7473902450 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
His friend said, “You may do it tomorrow.”

Options :



_ His friend told him to do it as tomorrow.
L%

. His friend told him that he might do it the next day.

_ His friend asked him tomorrow to do it.
3.8

L ® His friend tomorrow asked him to do it.

Question Number : 123 Question Id : 7473902451 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
He prayed that God might save the country.

Options :

_ He asked God. “may save the country”.
1.

~ He asked, “ save God the country”.
2. %

He said, “God save the country”.

_ He said, “ Country God, save.”
4. %

Question Number : 124 Question Id : 7473902452 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Change the voice of the following:
“Keep quiet”, the teacher said to the students.
Options :
The teacher was asked to keep quiet the students.

1. %

The teacher asked the students to keep quiet.

 The teacher asked the students to quiet keep.
3.

~ The teacher said the students to keep quuet.
4. %

Question Number : 125 Question Id : 7473902453 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Change the voice of the following:
Nobody told me about her.

Options :

_ Nobody were told me about her.

1 *

, ® Nobody was about her told me.

_ I'was told nobody about her.
3. >

WV I was not told by anybody about her.
Is Section Default? : null

Question Id : 7473902454 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (126 to 130)

Read the following Passage and answer the Questions (126-130) given below:

The professor more than any other person finds himself shut out from the
general society of the business world. The rest of the interests have. after all. some
things in common. The circles intersect at various points. Iron and steel have a
certain fellowship with pulp and paper, and the whole lot of them may be converted
mto the common ground of preference shares and common stock. But the professor
1s to all of them an outsider. Hence his natural dissimilarity is unduly heightened in
its appearance by the sort of a vocational i1solation in which he lives. Let us work
further into the status and setting of the man. To begin with. history has been hard
upon him. For some reason the strenuous men of activity and success in the drama
of life have felt an instinctive scorn of the academic class, which they have been at
no pains to conceal. Bismarck knew of no more bitter taunt to throw at the Free
Trade economists of England than to say they were professors. Napoleon felt a
lifelong abhorrence of the class. broken only by one brief experience that ended in
failure. He invited sixty five professors to his palace, but at the end of half an hour
Napoleon had had enough of the professors. “Put them all out”, he cried and never
again were they admitted into his presence.

Sub questions

Question Number : 126 Question Id : 7473902455 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The professor strikes a note of with the world outside.
Options :

L@ Discord

" o oncord
2.



;% Consensus

~ Union
L%

Question Number : 127 Question Id : 7473902456 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The isolation of the professor is
Options :

_ Commercial
L%

)V Inbom
L % Pretended

Professional

Question Number : 128 Question Id : 7473902457 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of worldly success have the professors.
Options :
Shunned
.Y
Praised
Killed
3. .

% Felicitated

Question Number : 129 Question Id : 7473902458 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bismarck the professors.

Options :

Liked
- Disliked

;. » Imprisoned



L% Murdered

Question Number : 130 Question Id : 7473902459 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Napoleon’s experience with the professors ended in nothing but

Options :

.. Happiness

, v Bifterness

_ Diplomacy
3.8

, * Amity
Is Section Default? : null

Question Id : 7473902460 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (131 to 135)



Read the following Passage and answer the Questions (131-135) given below:

There are basically three choices available to you when trying to influence
people. The first is to ignore people and simply hope they will act in your best
mterest. You probably will agree that this is not a very practical option, since the
results can be neither effective nor predictable. By ignoring other people, you are
giving up any hope of influencing them and thus are surrendering yourself to the
whims of fate. In effect, you are saying to the world, “I will leave you alone and. in
return, I want you to do what I want”, a naive and unrealistic expectation.

The second option is to use coercion and force to compel others to act in the
specific way yvou desire. The use of threats and intimidation may produce results, at
least in the short term. Fear-inducing tactics, however, never bring out the best in
the people, since people themselves must be the driving force behind their
motivation if they are to put their hearts and souls into what they are doing. Fear
forces people to operate in a survival mode. They may follow your mstructions and
orders to the letter, but seldom will they contribute any real energy or enthusiasm to
their efforts.

The third option 1s to persuade people to do what you want them to do simply
because they really want to. People will do what you want them to do willingly in
direct proportion to how they see their self-interest being served. In other words,
you must convince people that they will receive real benefits and rewards if they
follow the path you are suggesting. These benefits must be something the other
party understands and mherently wants, for whatever reason. In effect. you are
offering a reward that is valued by others in exchange for a reward that is valued by
you. The highest reward you can offer people is to provide them with opportunities
to maximize their full potential.

Sub questions

Question Number : 131 Question Id : 7473902461 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By ignoring people and hoping they will act in our best interests, we are
Options :

| Adopting a practical and fruitful approach

_ Harming our self-interest
2, %

Stifling our personality
3.8

Being unrealistic and simple

Question Number : 132 Question Id : 7473902462 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Options :



The use of compulsion and intimidation in our dealings with others produces

_ Far reaching results
L%

) Entirely satisfactory results
LV Only limited and short-term Results

L ® A lot of goodwill

Question Number : 133 Question Id : 7473902463 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Work done under compulsion or coercion tend to be marked by

Options :
Utmost sincerity and devotion

1 *

L v Devoid of zeal or fervor

~ Abundance of spirit
3. %

_ High rate of efficiency
4.

Question Number : 134 Question Id : 7473902464 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best way to get things done by people is to
Options :

_ Force them to do it
1. %

' Tell them to do 1t

2.
_ Make them socially conscious
3. .
Convince them that they stand to gain by doing it
4.

Question Number : 135 Question Id : 7473902465 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The highest reward we can offer people for the work they do for us is

Options :
. Topay them handsomely
1.

To praise them lavishly
2. ®

To provide them with opportunity to bring out the best in themselves
3.V

Show utmost concern for their well-being

Is Section Default? : null

Question Id : 7473902466 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (136 to 140)

Read the following Passage and answer the Questions (136-140) given below:

The Recording Industry Association of America (RIAA) estimates music piracy
1s the source of over four billion dollars each year in lost profits. Though music
piracy 1s a general term that encompasses a broad array of illegal practices
mvolving the duplication and distribution of recorded music (such as counterfeiting
and bootlegging for personal monetary profit), the one area of piracy that occupies
the majority of the nation’s attention is the contentious practice of music file sharing
on peer-to-peer (P2P) websites. Despite the RIAA’s recent crackdown on illegal
file-sharing by levying heavy fines against offenders, P2P websites are still thriving.
Though there i1s a small minority of the file-sharing population who truly believe
they should not have to pay to listen to their favorite music, this percentage hardly
occupies the lion’s share of illegal down loaders. So why are so many people
breaking the law? RIAA equates the illegal downloading of an album of music to
the act of shop lifting that same album from a record store, and they have a logically
sound argument. However, the dubious act of physically pilfering something from a
record store, and all the tangible consequences it entails. 1s hardly present in the
action of pressing a keyboard button from the repose of one’s home.

Sub questions

Question Number : 136 Question Id : 7473902467 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The author’s primary purpose is to

Options :
» Explain an illegal practice

Options :



, Offer an extraordinary msight

L ® Give irrelevant facts for music piracy.

_ Challenge a popular opinion
4. %

Question Number : 137 Question Id : 7473902468 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Repose, as used in the last line of the passage



Stress

, Anonymity
i Obviousness
W Tranquility

Question Number : 138 Question Id : 7473902469 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The meaning of shop lifting as used in the passage.
Options :

Transferring the shop from one place to another
1.

, Stealing goods from the shop without any payment
2.

~ Moving goods from one store to another store
3.

_ Opening the shutter of the shop.
4. %

Question Number : 139 Question Id : 7473902470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

RIAA estimated the music piracy loss at

Options :
Less than 4 billion dollars

4 billion dollars
2.

More than 4 billion dollars
3 ¢

Less than or equal to 4 billion dollars

®

Question Number : 140 Question Id : 7473902471 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is a P2P website.

Options :
Options :



It 1s a music website
.Y

It 1s an online lending platform
It is a commercial bank

_ It 1s an msurance company
4. %

Is Section Default? : null

Question Id : 7473902472 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Read the following Passage and answer the Questions (141-145) given below:

The importance of data visualization is simple: it helps people see, interact with,
and better understand data. Whether simple or complex, the right visualization can
bring everyone on the same page, regardless of their level of expertise.

While we’ll always wax poetically about data visualization, there are practical,
real-life applications that are undeniable. And, since visualization is so prolific, it’s
also one of the most useful professional skills to develop. The better you can convey
your points visually, whether in a dashboard or a slide deck. the better you can
leverage that information. The concept of the citizen data scientist is on the rise.
Skill sets are changing to accommodate a data-driven world. It i1s increasingly
valuable for professionals to be able to use data to make decisions and use visuals to
tell stories of when data informs the who. what, when, where, and how.

While traditional education typically draws a distinct line between creative
storytelling and technical analysis, the modern professional world also values those
who can cross between the two: data visualization sits right m the middle of
analysis and visual storytelling.

Sub questions

Question Number : 141 Question Id : 7473902473 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Wax poetically, means

Options :
A literary term used in poems

.. To talk about wax in a poetic fashion
2.



. To talk greatly about something
3.

L% To talk easily about something

Question Number : 142 Question Id : 7473902474 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Data Visualization

Is a combination of data and decisions.
, ® Uses data with visuals.

Is a mix of data interpretation and visual narration.
v
3.

Is right in the middle of analysis.

Question Number : 143 Question Id : 7473902475 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Same page, in Paragraph 1 means

Options :
_ All the data present in the pages

_ All the visuals present in the pages
« All the people present in the pages

Similar mterpretation

Question Number : 144 Question Id : 7473902476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If we convey information visually

Options :
It attracts the user

, % It benefits the presenter and the user

v It maximizes the data

Options :



o It improves presentation skills

Question Number : 145 Question Id : 7473902477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Old education system
Options :
Treated creativity and analysis separately

_ Treated creativity and analysis together
2. %

« Gave mmportance only to story telling



Gave importance only to visualization

4.
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Question Number : 146 Question Id : 7473902478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5e3¢5 Ja0Q50

3a
If(lj =(0.008, then (0.25) =....

% =0.008 0N (0.25)" =....
5
Options :
:
& 5
| ®
:
8
2. %
1
3. 4
LS
3
4. %

Question Number : 147 Question Id : 7473902479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



)

Arithmetical Ability - @035e5¢5 e Qs

C

V225
1/0.0001

Options :
15

1.5

L v 150

0.15

Question Number : 148 Question Id : 7473902480 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5e3¢5 a0Q50

F Afx*x10* =5*%2% then x=

V.XEXI()Z =52><22 @Cm(‘\’) X =

Options :

1% 22

v 10

Question Number : 149 Question Id : 7473902481 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @©0%5e3¢5 ae0Q50

V3

Ifa:?,then\/1+a+\/1—a=

ﬂ

a=73@_9000&')\/1+a+\/1—a:

Options :

2-+3

1 ®



2403

Question Number : 150 Question Id : 7473902482 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @03e3¢5 a0 P50

The greatest four digit number which is exactly divisibly by each one of the numbers
12,18,21,28 is

12,18,21,28 SODIOS (D3 2,8) TS PO YO 2rHONDT €963 20
PN 0T HOBWS DO?

Options :
|« 9288

_ 9882
2. %

LV 9828

9928

Question Number : 151 Question Id : 7473902483 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Arithmetical Ability - @0%e3ed e 50

<

2
CM.of — —. — is
3

9 6
e &. ..

(SH N \S)
O | &
|

Options :

W | o

)
""|o



22
w3
3.
]
o 3
4 %

Question Number : 152 Question Id : 7473902484 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%e3e5 0050
The LCM of 6%, 82 and k is 12*, where k is a positive integer. Find the smallest value of k?
64, 82 k © & .. 12* @ond k @000 daredd rgrodsn esoHd k
308, EQR DEN )OEH?

Options :

64

1 ®

. 32
2.

128

256
4.¥

Question Number : 153 Question Id : 7473902485 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @03e3¢% o050
The least perfect square number divisible by 3,4,5,6 and 8 is
3,4,5,6 S0OON 8 © & 2rRONDT @3 D) NOY*Y Y dowg

Options :

| 2500

. 1200

+ 900
3.

W 3600



Question Number : 154 Question Id : 7473902486 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e3ed a0 50

\/5+\/11+\/19+m -

Options :

Question Number : 155 Question Id : 7473902487 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e3e5 a0 50
If 2x = 3y = 4z, thenx:y:z =

2x =3y =4z ®ODN x:y:z =
Options :
L 6:4:3

o 2:3:4
2. %

_4:2:3
3.

3:4:6
4. %

Question Number : 156 Question Id : 7473902488 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - €0%5e3¢5 e Q 50
A sum of money is to be distributed among P.Q and R in the ratio of 6:19:7. If R
gives Rs. 200 from his share to Q, the ratio of P.Q and R becomes 3:10:3, what 1s

the total sum ?

6:19:7 DA’ 5200 DT P.Q 0B R © 505 HDODES TNV
&S00, R 9% HOG Q § 3. 200 Y . PQ SHOAM R © D) 3:10:3
©9:H)E00E, @OND BB O 521)) DOeH?

Options :

v 6400

Question Number : 157 Question Id : 7473902489 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - €0%1 e3¢5 Q50

The two numbers are in the ratio of 5:7. If the difference between them is 48. Then
the sum of numbers 1s

BOCD HDOWE® DAY 5:7 NDOOH €8 HOWES 23N 48, ONS ¢S
03D DOES 2

Options :

208

Question Number : 158 Question Id : 7473902490 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0%K5e3¢5 P50
The speeds of three cars are in the ratio of 5:4:6. The ratio between the time taken

by them to travel the same distance is

S 58 DHo 5:4:6 dANBRS  Goenod. ;% 28 Sr80
(DASTEHOTIETRVE DT DDA S0 AAYE DOeH?

Options :

5:4:6

1 ®

L 12:15:16

4:5:6

3 ®

. 15:12:10
4.

Question Number : 159 Question Id : 7473902491 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%ie3¢5 o050
Reversing the digits of a two digit number 1s 9 less than 3 times of the original
number and if the difference of these two numbers 1s 45. Find the original number ?

DS BOTOED DoV 0B BBKDB (R ST Do,
€950 DoWZO 0T 3 BEY S0T) 9 ¢550)0) SNOA €8 DO DOWIES
236565 45 @0, B DO DOS?

Options :

1.Q/27

Question Number : 160 Question Id : 7473902492 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @035e3¢5 Q50
7 2

12718

The largest fraction amoung 1s

wlw
CJ\ILA

117 l%i)age)cﬁs €963 2 S W

(OSH\S
cxlm

Options :

(ST NS

o |~

|

O | —

Question Number : 161 Question Id : 7473902493 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e3¢5 o050
If 60% of x 1s 30 less than 75% of x, then what 1s the value of x?
x & 60% DeND, x &’ 75% s E0T) 30 HE0) T &S, X DENH? DO

Options :

_ 200

, 600

236

Question Number : 162 Question Id : 7473902494 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @08¢5e3¢5 o050
A has 20% more money than B and C has 20% less money than B. What percentage

of money does A have more than C?

A S B Z0T) 20% 30205 €520 €08 s0BAM C 9 B $0T 20% 58036
$5200) &GO A DD C 0B )OS F°HO ¢H200)) DBV GOLDOE?

Options :

50

.Y T

Question Number : 163 Question Id : 7473902495 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @03e3¢5 050
3 5 th "
What is 25% of 36% of (g) of 4000 2
4000 ' (g) 35068 €° 36% S 25% DO eh?
Options :

200

1 ]

Question Number : 164 Question Id : 7473902496 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - €0%85e3¢5 0P 50

The quoted price of an item 1s twice the cost price . For a gain of 15% of the discount
should be

2,8 SN Ty, 1DES o, ) Jed> 0T BEI0D) G0B. 15% €725
T9B55), Does Troned HEeSowd ?

Options :
7.5%

Question Number : 165 Question Id : 7473902497 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @08ie3ed re0Y 50
A loss of 19% on a belt gets converted into a profit of 17%, when the selling price 1s

increased by Rs. 162. What 1s the cost price of belt?
2.8 BO 95028 DB 6w, 162 D DT DO, 19% Sadw. 17%

32350 PO, @ €8 23O §5) T DOe ?

Options :

360

1%

L 450



Question Number : 166 Question Id : 7473902498 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%e3es a0 50

If the selling price of an article 1s 4/3 1d of its cost price then what is the profit
percentage in the transaction?

2,8 50 MWLSTTE, Q) §H) O 65 4/3 H0ed &) , €25 F°HO
D05 ?

Options :

~ 16.75%
1.

20.50%

Question Number : 167 Question Id : 7473902499 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @085e3¢5 0P 50

Vishnu & Siddhi started a business by mvesting Rs. 27000 and Rs. 81000
respectively. In what ratio the profit earned after three years be divided between
them.

D 003G 1 € HEIOM Rs. 27000 and Rs. 81000 €2 2,8 5arSineS’
PR DETR. QD 0T ST 565 370 I CI2TEID
2 DAY S HoTHE0ETE?

Options :
2:1

o

1 ®



Question Number : 168 Question Id : 7473902500 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - €0%5e3¢5 e 50
P. Q and R can complete a work separately in 16,32 and 48 days respectively. They
started work together. But Q leaving off 8 days and R. 6 days before the completion

of the work. In what time 1s the work finished?

2,5 DA P, Q sHBSIM R €0 DAAT BT 16, 32 S0OASW 48 FarereS’
PO BOHHOB. NS EDD DA (PG00, ©ONS D &Y°O
IR 8 F232e0 VOO Q, 6 T2 DO R DA 837370 . ),
220363 BN D 0 e90NSE?

Options :

12

.Y

L 10

Question Number : 169 Question Id : 7473902501 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



hn

Arithmetical Ability - @08e3¢5 Q50

‘A’ can finish a work in 8 days. ‘B’ 1s 60% more efficient than ‘A’. How many days
will ‘B’ take to complete the same work?

‘A’ 2,8 DA 8 FarereS 0 ToHKer . B, ‘A’ 0B 60% DE0)D
G550 & DA TOWD. €99 T DA B’ A FarereS” 0
DONNEE?

Options :

6

1 ®

Question Number : 170 Question Id : 7473902502 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%%5e3¢5 Q50

In one minute, 2/5 of tank i1s filled. The rest of the tank can be filled in how many

minutes?

2,8 AATE 2/5 & S0 €3 Do, MADS &3 DODE@IE HV
QaONO ?

Options :
1m
>

1.5m

8]
B

)
[
=

Question Number : 171 Question Id : 7473902503 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - @0%5e3¢5 2050

A pump can fill a tank with water in 2 hours . Because of a leak. it took 2 2 hours
to fill the tank. The leak can drain all the water of the tank in how many hours.?

2,8 &3 2,€ H0D) 2 K0er3e>eS’ DoHK. €3 FE38 o> OB s S0 e
&3 2% 5030563 QoS . 53708 oGS ¢ OFefd sS30m D)

K030 359 e9iHe?
Options :

Lv 14
, % 12

38218



¢ 10

Question Number : 172 Question Id : 7473902504 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%¢e3¢5 a0 50

A 150 meter long tram crosses a pole in 15 seconds and a train of same length coming

from opposite direction mm 12 seconds. The speed of other tramn 1s

150 AR sy B> Bew 15 DZ0BS 2,8 Qoerd) HOAH 12
EOGBES” 5 Q) €5d), 55T OFS DT, BE Bendd re3od.
€95 )¢ BOChd BEN DO DOEH 2

Options :
% 20

o
h

e
&
[—
o

(Y]
2

Question Number : 173 Question Id : 7473902505 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e0%e3e5 Q50
The speed of a bus 1s 72 kn/h. What is the distance covered by the bus in 5
seconds?

2,8 200 K0 72 km/h @01 5 DEDHOES” €3 230 (HASTEI0T GrrEo
00¢b ?

Options :
I5m

1 ®

~ 50m
2. %

60 m
3.8



. 100 m

Question Number : 174 Question Id : 7473902506 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - €0%5e3¢5 e Q 50

If each edge of a cuboid is increased by 50%. Find the percentage increased in its
surface area?

2,8 B 05630 TBNEY, 63 0T 50% DOAD, 37 TWNEY, &IOS
T30S DOAS TE), EDF50?

Options :

Question Number : 175 Question Id : 7473902507 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0%5e3¢5 o050

If the diagonal of a square 1s decreased by 15%. Find the percentage decreased in
its area?

2,8 THe8IE| D0 TBEY DESSKW 15% 50, Q) IFOWES” 50
TR ST eDW?

Options :

25.57%

1 ®

27%

27.75%



% 26%

Question Number : 176 Question Id : 7473902508 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @0Ze3¢5 P50
Ratio of volumes of two cubes 1s 27:64. Find the ratio between their total surface
areas?
BOCD D" NDINBNTET DANEY 27:64. @O0, 3¢S HoLyE
&IOH JF°5 DAY DO6h ?

Options :

& 95
L.

27:64
2 *

Question Number : 177 Question Id : 7473902509 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Arithmetical Ability - @08¢5e3¢5 e 50

A metallic sphere of radius 12cm 1s melted into three smaller spheres. If the radii of
two smaller spheres are 6 cm and 8cm , What is the radius of the third sphere?

120.2) 5 rG0 RS S5 FF0 St D) e €6foardd.

DO V), F5=e> 50 6 cm DO 8em IONS, ¢ A0
ABE), IFIPP0 DOES 2

Options :
14 em
1. %

16 cm

v 10 cm



_ 12 cm
4. %

Question Number : 178 Question Id : 7473902510 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - e9085e3¢5 Pe0Q 50

111, +101,, =

2
Options :

1110,,,

1100,,,
1011,

1001,

Question Number : 179 Question Id : 7473902511 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arithmetical Ability - @035e3¢5 050

If 1212, = x4, - then x=

X(10)

o R,
1212 g it RGOS e
Options :

370

Question Number : 180 Question Id : 7473902512 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Arithmetical Ability - 0%5e3¢5 o050
If n 1s a positive integer and x"-a" 1s divisible by x-a, then for what values of n. it 1s
true?

n 28 GHTos . x*-a IO x-a T 2N0DDRSB Dn VeV VO

Qe55a0?
Options :

For all values of n —n G308) @9Q)) QOO
.Y

Only for even values of n —n A3NE) Q) OO SOV SO
2. %

Only for odd values of n - n G3NEY @A) 230 DOPOE
3.

~ Only for prime values of n - S50 (DG SO o ST (S
4. %

Is Section Default? : null

Question Number : 181 Question Id : 7473902513 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23(5e3¢5 0B Deriedes PNY50
Which of the following 1s tautology?
808 ToeS° DB DeAgRSAD?

Options :

»rVqg
1%

rV(~p)
2. ¥

L wPhl=2)

(~p)Vag
4. %

Question Number : 182 Question Id : 7473902514 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Algebrical and Geometrical Ability - 2)23(5£3¢5 s08050 DarEedes rsnd50
For statements p and q, when pvq becomes false?

DIBT p,q VD, pvq e Sy WDB00EH?

Options :

P 1s false and q is true

P53, q 25a),)

1 ®

P is true and q 1s false

_ P223). q D))
2.

Both p and q are false
p.q DO €5))
v

3.
Both p and q are true

~ P,q DO 250))

4 ®

Question Number : 183 Question Id : 7473902515 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - D23t5e3e snBASH BeriseIes P50

In a group of 240 persons, 175 can speak English and 85 can speak Telugu. How
many persons can speak Telugu only if every person speaks at least one English and
Telugu?

240 2008 H5e VAP’ 175 2008 Rofia SrgrEnutd o8akn 85 Lo
B0 ATEPEROE HA DA 90N TP BLVMD TP AIEFELRDED, B

JrB ATErEADAD DEID Dodod?
Options :

85

1 ®

, « 20



. 105
3.

v 65

Question Number : 184 Question Id : 7473902516 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23963¢5 00050 BerHedes S50

In an examination 25% of the total students failed in Telugu. 35% failed in English
and 10% in both. What percentage of total students passed in both the subjects?

28 HELS” Ao Jorgen 25% BeHS W 35% esoffo &°10% Gociotdes Ao
GOP TOMW. dogo JoHes dod To Doy  SolotdeS

ee‘:adaooir5m?
—2£9

Options :

1MSO

Question Number : 185 Question Id : 7473902517 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23563¢5 BN Dariedes 050

Let R= {(x.y) : x and y are positive integers and 2x+y = 12} then R'!=?

R={(xy) : X,y O IJT°05°0 «NDOOM 2x+y = 12} @00 R1=2
Options :

£(2,5).(4.4),(6,4),(8.2).(10,1)}

1 *

((2,5).(4.4).(6.3).(8.4),(10,1)}

286‘

_ {2.9.(4.9),6.3)(8.2),(10,1)}
3.



L (52660280110}

Question Number : 186 Question Id : 7473902518 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - D3935 0O Beriedes TS0
If R={(x.y): x and y are real numbers and |x — y| < 1} then R is

R={(xy): X,y €N Ve QOWSEN, [x — y| < 1} 90N €95) e R=
Options :

Not symmetric - J°g}sdo S°¢
Transitive — D) S

Anti-symmetric - Qfrod- FH:do
3. %

Reflexive — 62)%35
J o~

Question Number : 187 Question Id : 7473902519 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23563¢5 08050 Dariedes 050

The domain of the function f(x) = — 35
log,o(x—2)
BSRMOWNWN fix) = —— c_x’méz, 10T3F 30

Options :

(2,3)U (3,x)
(2,x)
(3,%)

4;’672

Question Number : 188 Question Id : 7473902520 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Algebrical and Geometrical Ability - 2)235e3¢5 OB Dariiedes 050
f(x) = 5x-3 and g(x) = x*+3 = (fog)(1) =?
f(x) = 5x-3 LNOAW g(x) = x*+3 = (fog)(1) =?

Options :

= 16

2$l7

Question Number : 189 Question Id : 7473902521 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - Dax¢iedeh Lo8asn Bareriedeh &mgéo

What is the equation of the straight line Passing through the points (2,0) and
(0,1)?

Dotopew (2,0) H08akw (0,1) o J'cd HE¥ Gay GBS, HEB0
Options :
x-2y+2=0

1 ®

x1+2y-2=0
v

Question Number : 190 Question Id : 7473902522 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Algebrical and Geometrical Ability - 2)23(5£3¢5 OO0 DarHedes 0P 0
The y- intercept of the straight line passing through the points (2.4) and (1.3) 1s

DotodHew (2,4) ., (1,3) oqo° DA DEY B L y- @oh Pocko



Options :

Is Section Default? : null

Question Number : 191 Question Id : 7473902523 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (55708 050
The Arithmetic mean of 2.5.3.5.4.6.5.8.6.5.5.61s

2.5,3.5.4.6,5.8.6.5,5.6 030S); 05206 00

Options :

4.85

Question Number : 192 Question Id : 7473902524 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - ($€5°08 J*e0P50
The geometric mean of 4.8,16.8 1s

4.8.16.8 adws); e 0G0

Options :

4

16

W)
S8



Question Number : 193 Question Id : 7473902525 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (§€5°08 DY 50
The harmonic means 0of2.3.4.51s
2.3.4,5 BNE) 370528 DS
Options :
190
66

240

55

160
77

240

Question Number : 194 Question Id : 7473902526 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (55708 0PSO
The median 0f 12.16.24.18,14.26.32.28 1s

12.16.24,18,14.26.32.28 a30s); 08I0

Options :

1.\‘?21

22

2

0

o
o8}

Question Number : 195 Question Id : 7473902527 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Statistical Ability - 5€5708 0P 50
The mode of 64,56.66.74.58.68.66 1s

64,56,66,74,58.,68,66 O308),. 22:50FE0

Options :

. 68
« 58
L 66

64

4 ®

Question Number : 196 Question Id : 7473902528 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (565708 NS0
The mean deviation of 2.5.6.2.4 1s

25624 o[i:osb mc_s,g;w DIDDAD

Options :
2.15

)

Lo L4

Question Number : 197 Question Id : 7473902529 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - §€5°08 P50
The standard deviation of five consecutive integers 1s
DO DD QFPTo5"Y S FOIA ISP Pe b

Options :

& 22D
1.®



o

wl ™

Question Number : 198 Question Id : 7473902530 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - $€5°08 %050

A problem in mathematics 1s given to Three Students P, Q and R, whose chances of
L 1.2 1% : , . .
solving it are e Respectively. What is the probability that the problem will be

solved?

3w5g)wP,Q 208050 R © £ 208 (83 DRI Qe D A F oSS

1 2
12 955°F°R DBV 5

o=

. & DBV D BoSTEIS Q0273 Dots?

Options :

1

L% 2

oo} &)1

N

&
wl N

Question Number : 199 Question Id : 7473902531 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Statistical Ability - 5€5708 0G50
A and B are two sets such that n(A) =5 and n(B) =4. A mapping from A into B 1s

selected at random. What is the probability that the mapping 1s a constant function?

n(A) = 5, n(B) =4 ™ o dAoen A,B en. A Qdod £ 28 Qf).)ai)"i)l
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Options :
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Question Number : 200 Question Id : 7473902532 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statistical Ability - (55708 eSO
Three coins are tossed in a single throw. What 1s the probability of getting one head

and two tails?
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